Vector Quiz Questions





Construction Addition  1


Add the following vectors using only a protractor and ruler.


	84  km		-	North


	63  km		-	East


	124  km		-	South





Construction Addition  2


Add the following vectors using only a protractor and ruler.


	126  km	-	East


	163  km	-	West


	87  km	-	North





Construction Addition  3


Add the following vectors using only a protractor and ruler.


	124  m/s	-	N  48o  E


	86  m/s	-	W  65o  S


		


Construction Addition  4


Add the following vectors using only a protractor and ruler.


	163  km		-	E  28o  N


	214  km		-	S  35o  E





Construction Addition 5


Add the following vectors using only a protractor and ruler.


	87  km	-	S  27o  W


	69  km	-	N  31o  E


	27  km	-	W  46o  N





Construction Addition  6


Add the following vectors using only a protractor and ruler.


	127  km	-	W  27o  S


	169  km	-	E  31o  N


	217  km	-	N  46o  W





Trig Addition 1


Use trigonometry to solve the following.





	74  m/s		-	North


	63  m/s		-	East





Trig Addition 2


Use trigonometry to solve the following.





	27  km		-	South


	53  km		-	West





�
Trig Addition 3


Use trigonometry to solve the following.





	57  m/s		-	N  43o  E


	63  m/s		-	E  27o  S





Trig Addition 4


Use trigonometry to solve the following.





	123  km	-	W  17o  S


	146  km	-	S  37o  E





Calculator Addition 1


Using the Vector Program Vectors, Add the following:


	73  km	-	E  13o  S


	123  km	-	W  47o  N


	89  km	-	N  23o  W





Calculator Addition 2


Using the Vector Program Vectors, Add the following:


	43  m/s	-	W  27o  N


	34  m/s	-	E  27o  S


	27  m/s	-	N  43o  W





Calculator Addition 3


Using the Vector Program Vectors, Add the following:


	67  km		-	E  37o  S


	92  km		-	W  17o  N


	43  km		-	S  27o  E





Calculator Addition 4


Using the Vector Program Vectors, Add the following:


	233  m/s	-	N  34o  E


	134  m/s	-	W  21o  S


	184  m/s	-	S  7o  E





Calculator Addition 5


Using the Vector Program Vectors, Add the following:


	113  km	-	W  31o  S


	134  km	-	E  43o  N


	227  km	-	N  51o  W


	96  km	-	S  17o  E





�
Calculator Addition 6


Using the Vector Program Vectors, Add the following:


	113  m/s	-	S  31o  W


	134  m/s	-	N  43o  E


	227  m/s	-	W  51o  N


	96  m/s	-	E  17o  S





Vector Subtraction  1


Use any method you wish to find the vector difference of the following displacements:


	di  46  km	-	E  17o  S


	df  57  km	-	W  34o  S





Vector Subtraction  2


Use any method you wish to find the vector difference of the following velocities:


	vi  23  km	-	W  34o  N


	vf  64  km	-	E  19o  N





Vector Subtraction  3


Use any method you wish to find the vector difference of the following displacements:


	df  123  km	-	N  33o  W


	di  157  km	-	E  44o  N





Vector Subtraction  4


Use any method you wish to find the vector difference of the following velocities:


	vf  69  m/s	-	S  12o  W


	vi  117  m/s	-	W  47o  N





Vector Subtraction  5


Use any method you wish to find the vector difference of the following accelerations:


	ai  16  m/s2	-	N 37o  E


	af  9  m/s2	-	S  14o  E





Vector Subtraction  6


Use any method you wish to find the vector difference of the following accelerations:


	af  51  m/s2	-	E  41o  S


	ai  83  m/s2	-	W  26o  S











